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o PRESENT
CONUINVOMS

the present continuous is the present of be + verb+-ing:
it's raining.

she's wearing shoes
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A AFFIRAATIVE

S + TO BE (EN PRESENTE)+ ING
| AM PLAYING

1 HE IS PLAYING

THEY ARE PLAYING
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FEGCATIVE
S+ TO BE ( EN PRESENTE NEG)+ ING
| AM NOT PLAYING
HE ISN'T PLAYING
THEY AREN'T PLAYING

IMTERREGAION

IS SHE READING A BOOK?

s, YES/NO QUESTIONS
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PRESENT CONTINUOUS \
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ARE YOU WEARING GLOVES? YES|AM., NO. | AM NOT
IS SHE WEARING BOOTS? YES SHE IS NO SHE'S NOT
£ THEY WEARING SUNGLASSES? YES THEYARE NO THEYRE NOT
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